


153. 7R 5% Pt i B 13 &
e RN B
7 - — -
i M 7 s i 23}
T %6 12, 14 83, 135 39, 419 13,723 16, 299
9. 10, 2 85, 786 10,747 15, 039 15,612
&% 3. 10 3 86, 239 40 728 45 511 1,203
GEl RSEIE RS EES
154. %% & Pt i B 3 &
T A 5 e 2 (N) &
.
T g 7 ey i i
R 26, 12, 14 83, 135 39, 412 43,723 46, 295
29, 10. 22 85, 786 40, 747 45,039 45,614
&7 3. 10, 31 86. 239 40, 728 45, 511 51 193
GEl REIERLEES
155. = &5 Pt ik B 2 &
TP TN m
! @ % o £ @ %
Yk 28 7 10 85, 131 40, 373 44, 758 47,651
S o 7 21 86, 221 40, 901 45, 320 45, 215
4 7. 10 86, 065 40, 596 45, 469 48, 667
GE RREEERAFER
156. = i Bt ok B 13 =5
e PN &“
17T
i " ) ey A 2
Rk 28, 7. 10 85, 131 40, 373 44,758 47, 647
SR, 7. 21 86, 221 40, 901 45, 320 45,211
4 7. 10 86, 065 10, 596 15, 469 18, 663
GE REEEERAFER

158



SR DL (VNERZEIX)

I N # z £ (%)
i % i # i %
22,369 23,930 bb. 69 bb. 75 4. 73
21,988 23,624 b3. 17 b3. 96 b2. 45
24,132 27,071 59. 37 59.25 59. 48
BREHRDL (EAIRER)
S f 7 £ (%)
5 % i t 5 %
22, 365 23, 930 59. 69 56. 76 54. 73
21, 986 23,628 53.17 53. 96 52. 46
24,126 21,067 59. 36 59. 24 89. 41
RERDL (G ZEX)
S m % % %)
% L8 7 2 5 L8
22, 946 24,705 55. 97 56. 84 55. 20
21,781 23, 434 52. 44 53. 25 51.71
23, 029 25, 638 56. 55 56. 73 56. 39
BERRDL (BEBIRER)
IR # % £ (%)
E % = 4 E #
22,941 24,706 59. 97 56. 82 59. 20
21,778 23,433 b2. 44 53. 29 61. 71
23,025 25, 638 56. 54 56. 72 56. 39
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1657. & F HF & =g
Bt AR H e =3 by (N) &
I N3 YA A
A by ) @7 s g
gk 23, 11, 27 82, 495 39, 361 43, 134 50, 151
07, 11. 22 81, 853 38, 678 43,175 38, 206
31 4. 7 84, 331 39, 893 44, 438 43, 097
S 5. 4 9 84, 109 39, 432 44 6717 43, 184
GE BmEEHLEEESEER
=2 AL 2% =
158. If & = & A
w5 = B A H A = % (N) %
T S N *
A by Ui Ly A by
Tk 23, 4. 10 82, 872 39, 621 43, 251 36, 718
27, 4. 12 81, 415 38, 463 42, 952 36, 944
31 4. 71 84, 328 39, 892 44, 436 43,012
S 5. 4. 9 84,098 39,423 44 675 42, 825
Gk BEEHEESERR
159. w1 K 3= 0 =
B AR A I * w (A\) &
T — , -
iy wn W 1’e i w
TRk 23, 12, 25 82, 475 39, 361 43,114 30, 292
97, 12. 6 81, 900 38, 698 43, 202 36, 746
31, 4. 21 84, 266 39, 860 44, 406 46, 783
2% 3 8. 29 85,128 40, 161 44 967 43 974
GE BmEEHEEESEER
e 2 AL 2 =
160. M 3% = &= =
= H Ve & by (N) e
YT HE AR — . — .
A Py ) £°8 A by
Tk 23, 4. 24 82, 547 39, 423 43, 124 42, 615
9. 4. 2 81, 315 38, 417 42, 898 42, 085
31, 4. 21 84, 266 39, 860 44, 406 46, 789
&% 5. 4. 23 84 014 39, 370 44, 644 42. 269
Gk BEEHMEESERR

160




ok =] o (N Ed ok o (%)
% L3 . P2 % L8
23, 573 26, 578 60. 8 59. 9 61.6
18, 480 19, 726 46.7 47.8 45.7
20, 476 22, 621 51. 1 51.3 50. 9
19, 983 23, 201 91.3 90.7 91.9

® o &k OE R N
Ui = £ (N) £ Ui e (%)
% % i 2 % %
17, 538 19, 180 44. 3 44. 3 44.3
17, 567 19, 377 45. 4 45.7 45. 1
20, 426 22, 586 51. 0 51.2 50. 8
19, 810 23,015 50.9 950. 3 51.5

B # % (N 1% B SE (%)
% 'S i 2 ¥ %
14, 348 15, 944 36. 7 36. 5 37.0
17,083 19, 663 4.9 4.1 45. 5
21,726 25, 057 55. 5 54. 5 56. 4
20, 459 23,515 1.1 50.9 52.3

® o ke OE R N
Ui = £ (N) £ Ui oE (%)
% % i % % %
19, 818 22, 797 51.6 50. 3 52. 9
19, 423 22, 662 51.8 50. 6 52. 8
21,727 25, 062 55. 5 54. 5 56. 4
19, 528 22, 741 50. 3 49. 6 50.9
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162

161. ¢ ZE X BB &k & K
WA A 9 H 1 HEE
Bk & N E X y Py F 2

ST BT - = 86, 111 40, 801 45, 310

2 85, 947 40, 604 45, 343

3 86, 259 40, 773 45, 486

4 86, 274 40, 773 45, 543

5 85, 886 40, 369 45, 517

1 MR RS 5, 551 2,524 3, 027
5o PN e #E 2,001 907 1, 094
3 HREE LR ¥ — 1, 968 930 1,038
- - & fif 3, 306 1,476 1, 830
5 owh HOBY BT M & A 3, 404 1,516 1, 888
W6 M a S a=T A 691 298 393
w7 R " fif 886 406 480
¥ 8 K il £ fE 946 435 511
O R W N E A 4, 687 2,229 2, 458
O R R N = i = 4, 709 2,325 2,384
- AR TN A N < 2, 848 1,373 1,475
W2 F v — 7 T 4, 502 2,146 2, 356
13 A B oAb & 2,995 1, 382 1,613
#1144 0 o o dr & f 3, 008 1, 457 1,551
15 T e XA o M R R 4, 855 2,253 2,602
H16 fk T /N R R B A 3, 109 1,434 1, 675
H17T B oW o m & fH 3, 252 1, 502 1, 750
18 1 i £ fiE 3, 195 1,525 1,670
19 4 1% e #E 4, 082 1,979 2,103
Hio0 M MW om % AR & o 3, 815 1, 760 2, 055
ol 15 e #E 3, 441 1,614 1,827
oo ® B M & fH 1, 203 631 572
23 IRB BT E I 1 1, 841 828 1,013
04 #k 1% e #E 4, 207 1,976 2,231
Wos 4 W db & A 2,999 1, 465 1,534
5526 4 e #E 4,075 1,944 2,131
w07 22 S e i 612 311 301
08 1R J2 = fiE 1, 187 556 631
500 (KRB R az7 1t h- 2 2,511 1, 187 1,324

Gh wEEHEBESFER




e A HE \JEL T %
162. Bw S pl 52 N OV B =
B/E == £ B % B E H AHERT O = B B B =5 NIRRT 2N B 5
e A B g s 50, 275 19, 931 12, 270 5, 153 4, 561
(eI EE) 100. 00 39. 64 24. 41 10. 25 9. 07
(5 Fn34210 431 H) AAS eS| EEE S | AL s | rhas s | S LS
HEESR (9%) 3, 441 1,571 1, 403 1, 395 550
6. 84 3.13 2.79 2.78 1. 09
B/E == £ B % B ZE I H AHERT O = B B B =5 Zr BH 5, N R TG
47, 687 17, 294 10, 815 4,129 3, 922
100. 00 36. 26 22. 68 8. 66 8. 22
S Ekias B g s H A< He o 5 =] BB =47 FLU N0 T HEERE = B = B A= N H K 3¢
(eI E2) 3, 344 2, 689 1, 765 1, 448 966 944
(A$D4fl57ﬂ 10 H) 7.01 5. 64 3.70 3. 04 2.03 1. 98
SHEER (%) TINE D % SEE SE LA HASZE — Hraw < I H VD WEFTECY - g5
122 90 82 44 33
0. 26 0.19 0.17 0. 09 0. 07
R REEHEBLAERR
Kbt B (R R) 1T ENH H7-0, AR EH & Blp o> TWET
‘\ g‘éé‘ — AY A
163. Ik B 3 B &
BT A 5H 1 BHE
P g | KBHER O el L e | RRESS I
| &bk | BB | T Lyn  |BRREIEReEkoR AW | v7ev= [BARIER] T
A
SF5E 22 22 6 4 4 3 3 2 0
i%f*/l’ n&x%ﬂ’%ﬁ
élé |:[ N/
164. 4 s P = Bl i B 2%
WA A 5 H 1 HEYE
% # £ oW B OB Bl ()
I
F _—" REH 5 T30 <T35 <Ta0 <155 <J50 <[55 <TI0 <Tes <70 <T75
ool 34 391 44| 49l 54 59 64| 69| 74| viE
S b &£ 22 22 1 — 2 1 2 7 1 5 1 2 —
EE BEEER
“LJ\ \\ﬁ Mz
165. FrBIEk K OVER = Bk B 3%
AT - A 4 7 1 HEAE
Tk = T
| BRI | ke | wmeams | reemas | mwiam | mesas| axme
SRk 31 & 6 1,214 413 15 103 101 582
k0 2 (&) 1, 229 412 14 105 95 6003
3 (&) 1, 253 421 14 107 97 614
4 (&) 1, 258 426 14 106 98 614
5 6 1, 287 431 14 112 109 621
BEEF BEE AR RURERRE & VB H R B 2B <
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166. i &

HAL . A

R S O R Y
Sl + =

ERL 31 4 1,214 290 176 94 100 14 21 492
oH 2 1,229 291 185 84 102 15 18 510
3 1,253 300 192 77 104 20 17 521
4 1, 258 303 194 76 103 20 18 521
5 1,287 318 204 10 109 19 21 522
wm oA B R 46 30 12 — 1 — - o
B A R 6 6 - - - — — —
17 B PR 6 6 — — — - - -
Mo B ik 6 6 — — — — — —
INE QIS W 5 5 — - - — — —
fo b e B R 1 3 - - 1 - - -
ANEI I 12 - 12 - - - - -
oW W 4 4 — - - — - —
w B W 59 50 3 4 — — - -
w B &R 9 6 1 2 - — — —
wooEF R 6 4 — 2 — — — —
A F R 10 10 - — — _ _ _
EA R P 6 4 2 - - - - -
[ S 16 16 — — - - - -
Mmoo Bl R 5 5 — — — — — —
EHERI v 4 — 5 5 — — — — — —
R & & 8 31 30 — — - — — —
WA R HE 9 9 — — — — — —
T 6 6 _ _ _ _ _ _
P LR B 5 5 — — - - — —
MK+ S ERR 6 6 — - _ _ _ _
a3 a =T o R 4 4 — — — — — —
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X

471 HBAE
R
N HiRR A - . s - = E
/%;@‘F

& #k = 60 54 5 — 1

15 D - fE AR TS R 7 7 — _ _

IR R Ak GR 11 11 — _ _

B 25 U & ik 7R 6 6 — _ _

I # LR R AR 9 9 — _ _

ook % B2 RR 6 3 3 — _

[E & - 4R 12 11 1 _ _

£ B IE R R 8 7 1 — —

FEDL - /ED 133 32 100 - 1

FEL - EHE R 6 5 1 - -

B T X ER 13 8 5 _ _

o R R F R 69 7 62 — _

7€ 3 X P 18 3 15 — _

el Bl HE o GR 17 2 15 — —
Brilawm Uy

F v % R 6 6 - — —

K B A5 2 T 3 1 2 _ _

FbHS VBRER 57 12 10 — 9

eI = Sl 8 2 6 _ _

R B B R BR 9 7 2 — _

By — 27 2 — - -

Y =k s — 11 1 2 — —

B OO fE 39 11 27 — 1

+ KB H G 10 4 6 — _

A2 i IE R 9 4 5 — —

F E 0 REEER 10 3 7 — _

® A E R 9 — 9 — _

= 7 B = 6 6 — _ _

BEEHEHERES 3 3 B B B
= % J&

B2 K E B R 3 3 — _ _

AFERLELER - - - - -

[ AE ¥ P2 BVl B A _ B _ B B
Zx B =

BXXBSEBER — — — _ _

B 2 F B R 8 6 — — 1




\
/

A AE R TN e
S

B EH EZ B = 109 43 3 18
E i 0 25 14 2 6
BHE MR B G 11 5 — 6
OB R 6 6 — —
AR L H - 5 3 2 —
B F W 51 29 1 —
BEBKR G 6 1 — —
H oW B O 7 3 — —
FAL BB HE R 4 — — —
HEE L HZ— 6 1 — —
A PEEE A 26 24 1 —
= B EF MR 6 6 — —
SEL RS G S I 6 5 — —
SR /A = 3 3 — —
X F  fH 5 4 1 —
A i X E A 4 4 — —
JiE s R B 2 2 — —
FRAET BB 33 — — 12
7 DS S '3 7 — — 7
RIS ('3 5 — — 5
o M = 21 — — —
kT K E H 74 17 42 14
wo B i 7 7 — —
=T T 7 4 3 —
o E PR G 6 6 — —
Kl T %G 15 — 9 6
WK d 14 — 7 7
KEE H B 8 — 8 —
TKIE TR 9 — 9 -
™ K A B 5 7 — 6 1

EE AEE AR
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I

N A A AR

; S
>

&

R

il

&

&

-

“

& > K
W B
=

<]
&R

Rl
L)

PAl

112 — — — 108
11 — — — 11
6 — — — 6
10 — — — 10
21 — — — 21
21 — — — 21
21 — — — 21
18 — — — 18
547 21 2 — —
6 6 — — —

6 6 — — —

6 o 1 — —

5 4 1 — —
522 — — — —

i 4inf
il
W W 28
XM Km
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